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QUESTION 1

How many IP addresses do you need at a minimum for the client subnet when you plan to have four Exadata compute
nodes onExadata Cloud Service?

A. 32

B. 14

C.4

D. 18

E.8

Correct Answer: D

((3 address * 2 nodes) +3 for SCANs +3 reserved in subnet )

QUESTION 2

Which TWO statements are true about Interface for Exadata I/O Resource Management (IORM)? (Choose all correct
answers)

A. IORM allows workloads and databases to share 1/0O resources automatically according to admin-defined policies.
B. IORM can be enabled across multiple databases using the Cloud interface of Exadata Cloud Service.

C. IORM allows workloads and databases to share I/O resources automatically according to user requests.

D. IORM can be enabled across multiple Exadata Racks using the Cloud interface of Exadata Cloud Service.

Correct Answer:. AB

QUESTION 3

Resources are allocated to the DB system based on the shape selected. Which TWO are options for a DB system?
(Choose all correct answers)

A. Two-node bare metal servers with 512 GB memory and locally attached drives

B. Two-node virtual machine X7 with Block Storage which can be scaled up

C. One-node bare metal server with up to 52 OCPU cores and locally attached drives to the system
D. One-node virtual machine XS with 24 OCPU cores

Correct Answer: BC
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QUESTION 4

Which characteristic is NOT a factor that impacts the capacity units for provisioning a NoSQL Database Cloud Service
table?

A. record size

B. data model

C. query pattern
D. durability level

Correct Answer: D

QUESTION 5

Which THREE Oracle Cloud Infrastructure (OCI) services can be used to connect to on- premises networks? (Choose
all correct answers)

A. Internet Gateway

B. Fastconnect

C. Dynamic Routing Gateway (DRG)
D. Service Gateway

E. IPSec VPN

Correct Answer: BCE
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